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Pir Panjal ral_ige is the part of
(1) Sub-Himalayas

(2) Lesser Himalayas .

(3) Inner Himalayas

(4) Trans Himalayas

.~ The projection in which distance

between latitudes
equatorwards is

(1) Polar zenithal equal area
(2) Cylindrical equal area
(3) Conical equal area

(4) Sinusoidal

decreases

A Bonne’s projection has been drawn
assuming 50° N. as standard parallel,
if it is redrawn assuming 25° N. as.
standard parallel, the curvature of
latitudes in it will

(1) remain the same

~ (2) increase
- (3) decrease

(4) increase north of standard parallel
and decrease south of it

The measure of central tendency about

which the sum of the squares of the
. deviations is at a minimum is -
(1) median and mode

(2) ‘median
(3) mode
(4) mean

The most frequently occurring valpe in
a distribution is called

(1) mode

(2) median

(3) mean

(4) . mean and median
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10.

1L

If a constant is subtracted from the
data, its standard deviation will

(1) decrease by the constant

(2) increase by the constant

(3) decrease by the square of constant
(4) remain unchanged '

If the data are divided by a constant

(1) the mean and standard deviation
will be reduced to the extent of
division by the constant

mean will remain unchanged and
standard  deviation will be
lowered

standard deviation will remain
unchanged and mean will be
lowered '

both mean and standard deviation
will remain unchanged

(2)
3)

@

Mantle is composed of
(1) Anhydrite (2) Peridotite
(3) Halite {4) Gypsum

Select the correct statement :

(1) moho line separates lithosphere
and asthenosphere -

moho line separates
asthenosphere and mantle

mantle is a soft layer
asthenosphere is a soft layer

@

(3)
C))

Dome-shaped magma deposit at the
minimum depth is
(1) stock

(3) batholith

(2) lapolith
(€] rlaccolith

The factors which assist in valley
deepening are

A. ‘abrasion

B. Atrition

C. hydraulic pressure

D. pot hole drilling

A,BandC

A,B,CandD

B,CandD

(4) A, CandD
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(4) a9 A
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12.

13.

14,

15.

16.

3

@

Positive changc in base level occurs
when

(1) sealevel remains stationary

(2) sealevel falls

(3) sealevel rises

(4) valley floor is uplifted

Homosphere includes
A. Stratosphere

B. Troposphere

C. Mesosphere

D. Exosphere
A,B,CandD
(2) A,BandC
CandD .
4) A,CandD

Significant warmer/s of the earth’s
surface is/are

A. Short wave solar radiation
B. long wave counter radiation

€. heat of earth’s interior

D. prevailing winds
(1) AandB

(2) A,BandC
A,B,CandD
(4) A only

If there were no circulations on the

earth, we would have experienced

temperatures more _
(1) contrasts (2) equable
(3) low (4) fluctuating

Isotherms join the places of

(1) equal recorded temperatures

(2) equal temperatures adjusted at the
sea level

(3) equal lowest recorded

temperatures

equal highest recorded

temperatures
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17.

18.

19.

20.

21.

Mass of water vapour contained in a
given mass of airisits

(1) absolute hurnidity
(2) relative humidity
(3) latent humidity

(4) specific humidity

With increasing temperature, the

moisture holding capacity of air
(1) increases at constant rate

(2) increases at decreasing rate
(3) increases at increasing rate

4 decreases at increasing rate

The cloud type with vertical growth is
(1) Stratus ‘

(2) Altostratus

(3) Cirrostratus

(4) Cumulonimbus

Towards the poles, defiection force |
(1) decrcdses '

(2) increases

(3) remains constant

(4) fluctuates

An anticlockwise
circulation will be afan

inward wind

(1) cyclone in northern hemisphere
(2) cyclone in southern hemisphere

(3) anticyclone in northern
" hemisphere

(4) anticyclone in southern
hemisphere
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23.
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27.

YRI3T & =0T # e

(1) w3 % g F e - uwd S gf &
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(4) TS Bl gL F ST - TS H YR F
FTET
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(1) 104 - (2) 52

(3) 13 - (4) 26

I guEl F G W YUM G St W
U q R ™ ) s sa e
forfe foerer 9 omom, sE

(1) 13 ' (2) 26

(3) 52 @) 104

TR % qEt 9§ 45° — 65° et %
A ST A U T A, T
(1) uivemt R (2) JT o

(3) TTHGEA  (4) FEGH

for TerarH Teg 9T deiieeer feafa
el €, 9F ¥ ()

(1) 1500-2000  (2) 100-300

(3) 300-1000 (4) 1000-3000

feer ¥ TRRW ¥ W T OH
fedtez o Fott e whve e
I g R Ty

(1) FrEumw (2) €RETE
(3) Tiream @ famgm

22. The gyre of ocean currents in northern

23.

25.

26.

27.

and  southern  hemispheres  is
respectively

(1) anticlockwise — anticlockwise
(2) anticlockwise —clockwise
(3) clockwise — anticlockwise

(4) clockwise —clockwise

If the moon’s rotational speed is
doubled, the next tide at a place will be

delayed by (minutes)
(1) 104 (2) 52
(3) 13 (4) 26

If the rotational speed of the earth and
the moon is reduced to haif, the next
tide at a place will be delayed by

. (minutes)
() 13 (2) 26
(3) 52 - @) 104

The type of climate found roughly
between 45° — 65° latitudes on the
eastern margins of the continents, is
(1) West European (2) St. Lawrence
(3) Hot desert (4) Monsoon

Haloclinal condition exists between
the oceanic depth of (metre) .

(1) 1500-2000 (2) 100-300
(3) 300-1000 (4) 1000-3000

An almost continuous strip extending
from Sasaram in Bihar to Chittorgarh
in Rajasthan belongs to the rock
system
(1) Cuddapah (2) Dharwar
(3) Gondwana (4) Vindhyan

04
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D. mmmsﬁ?l

() AABgD = (2) A, CTD
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(2) A Ay T § e
(3) st e T @ S
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28.

1 29.

30.

3L

(4) (i)

Match List-I (direction of mountain
building force in the building of
Himalayas) with List-TI (its advocate)
and select the answer from the given
codes :

List-1 List - IT
(a) From north - (i) Kober
(b) From south (i) Suess
(c) Frombothsides (iii) Argand
(d) Noside (iv) Burrard
Codes :
@ ® © W
() @ G @G Gv)
2y @) @i @ av)
3 @) @ v G

(v) @ @

According to Koppen’s scheme, Amw
type of climate is found in

(1) Kerala

(2) Madhya Pradesh

(3) Rajasthan ~

(4) Jammu-Kashmir

Select the correct statements about
cylindrical equal area projection :

A. Equator & poles are equal in

length.

B. it is a homolographic &
orthomorphic projection.

C. longitudes are equal to the
diameter of the reduced earth.

D. longitudes are equi-spaced.

(1) A,BandD (2) A,CandD

(3) CandD (4) AandD

In Mollweide projection', | the central
meridian is represented

(1) equal toits actual length

(2) longer than its actual length

(3) shorter than its actual length

(4) 1/3 of equator
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(2) -0:6
@ 10

(1) 0.6
3) -10

fraifees iR & E @ owR
TEEw e ; '
X-2,64,62
Y-4,4,4,4,4
(1) 0.1

(3) 0.0

@ 10
4) 0.55

et VeI 6 &

(1) TR Ve

(2) F AT QT

(3) & e e

4) U aFa T gE R e

T | S i/ it SR o

A, O W Eteara

B. SuEat @ fwmw
C. wEag

- D. =6 H SR

(1) %ad C
(2) FETATB
(3) HEAATC
(4 A,BHFC

A F et gt aen frer g
(1) SRAR ~ AR

(2) SR — FATE

(3) S HIMIGY — A

(4) HAEE ~ I

32,

33.

35.

36.

(3) -1.0

The given scatter diagram represents
approximately the ‘s’ of

.

(2) -0.6
@ 1.0

(1) 0.6

The Rank correlation for the following
data will be

X~2,6,4,6,2
Y-4,4,4,4,4 ,
(1) 0.1 ) 10
(3) 0.0

(4) 0.55

Mercator projection is not

(1) homolographic

(2) orthomorphic

(3) azimuthal .

(4) orthomorphic and azimuthal -

‘The climatic determinant/s in Rajasthan

is/are 7

A. location of Aravalis
B. direction of Aravalis
C. distance from sea

D. uncertainty of rainfall
(1) Conly

(2) A and B only

(3) Aand Conly

4 A,BandC

The pair of districts having red and

- yellow soils, is

(1) Bharatpur — Dholpur

(2) Sriganganagar - Hanumangarh

(3) Sawai Madhopur — Karauli
(4) Jhalawar — Baran

04
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37.

38.

39.

41,

42.

The pair of districts having teak forest,
is '

(1) Udaipur - Rajsamand

(2) Sirohi — Pali

(3) Jalore - Jodhpur

(4) Banswara ~ Dungarpur

The mm isohyet line which divides
Rajasthan into almost two equal
hatves, is
(1) 250
(3) 100

- (2) 500
@) 50

The decreasing trend of rainfall in

Rajasthan is specifically from

(1) southwest and southeast to
northwest

(2) southwest to northeast

(3) southeast tonorth

(4) northeast to southwest

Star sanddunes are found near
(1) Jaisalmer (2) Jodhpur
(3) Swuratgarh (4) Barmer

Vindhyan escarpment in Rajasthan
mainly consists of
(1) sandstone
(3) quartzite

(2) limestone -
" (4) dolomite

Percentage of cropped area to the total
area of Rajasthan is approximately

(1) 42 (2) 51

3) 70 (4) 80

. - The correct sequence of orogenies is
(1) Cambrian, Variscan, Calidonian

and Alpine

(2) Chernian, Caledonian, Hercynian
and Alpine

(3) Armorican, Caledonian, Alpme ;
and Chernian

(4) Caledonian, Hercynian, Cambnan
and Alpine
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45.

46.

47.

48.

Inverse relationship between height
and density of relief columns was
hypothesized by

(1) Airy

(2) Holmes

(3) both Airy and Holmes

(4) Pratt '

‘Terranes’ are

(1) Crustal pieces migrating due to
mantle convection and plate
tectonics

(2) convergent plates

(3) divergent plates

(4) . transcurrent plates

The given figure represents the type of

fold

K
/
T
o (7
/
/
(lj symmetrical (2) monoclinal
(3) isoclinal (4) recumbent

The given ﬁgure represents the type of
fault .

(1) normal
(3) tear

(2) reverse
4) step

Dynamically induced belt/s is/are

(1) sub-tropical high pressure only

(2) sub-polar low pressure only

(3) both sub-tropical high & sub-
polar low pressure

(4) polar high pressure

https://mpcareer.in/



S MPCAREERIN

At aavder e

49.

50.

51.

52.

3 sRer W TEAe oir o e goi
T F @ T e @Al & 9o
o et

(1) TAFFR
(3) HHHT

2) s
(4) s

;ﬁr&ﬁmwﬁqwaﬁwm‘&,aﬁ
(1) o7 TiT

(3) =R Ta

(2) ST THER
@) e e

et U TS AT gt @ 4 Y 8 §H
W fer iy 7 fen & o it geel B
e &

(1) wgeT
(3)

T - 1 @F F 5 WG - 1
(S ¥ yHR) ¥ TR S 5T /K
F2 W IO B T HH '

el - !133— Il

(@ A () YFEyg

(b) (i) HE, -
© C (i)t

(d) (iv) SRR Tut Sioarg
He e

(2) SheRgiftre
4 ST

m O W

®)
(i)
(i)

(c)y (d
(i) (iv)
i) @)
(i) (iii)
@ O

ey
)
&)
@

®
{iv)
(iv)

Gi) (i)

49,

50.

51.

52.

11

Had there been level land surface and
no earth rotation, the winds would
blow with reference to isobars

(1) parallel (2) oblique
(3) atright angles (4) haphazard

Coriolis force is maximum on
(1) land breeze

(2) seabreeze

(3) trade winds

(4) polar winds

The winds blowing with constant
speed and direction due to the sum of
forces working on them is zero, are
called

(1) westerlies
(3) easterlies

(2) geostrophic
4) jet

Match List — I (Koppen'’s codes) with
List — II (climatic types) and select the

“correct answer from the -given codes

below :
List-1 List - I
(@ A (i) Dry climate
(b B (i) Mild, humid-
A mesothermal
) C (iii) - Polar climate
(d E (iv) Tropical rainy
climate '
Codes :
@ O @ @
M O 6@ G
(2) @{v) (i) i) @)
(3 (v @ Gi) (@)
@) G di @ 0
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M) 5-10%  (2) 10-17 %o
3y 37-46 %0 - (4 27 - 30 %o
TR BIA/EIE & U WK /et
(1) wEre
(2) swEyg
- (3) s S
(4) =TS
SHEY, TER T SR § IF 3 Ye a9
Yot w Wi W@ e s @ |
wafya ¢, TE 8 - ,
(1) SR @ WER
(3). =R (4) wEi
ety o & il wntae fer &
(1) SR (2) TER
(4) SEEmT

(3) SiuR

53, Match List-I (Theories

s4l

55.

6.

57.

L2

of atoll
building) with List — 0 (propounders)
and select the correct answer from the
codes given below : :

List -1 List-1I
(a) Antecedent (i) Darwin
platform
(b} Glacial (ii) Agassiz
control
(c) Subsidence (iii) Murray
(d) Erosion (iv) Daly
Codes : B
@ () (© @
(1) (i) Gv) @) (D)
2y @ G aGi) Gv)
(3) (i) _(iv) (i) (i)
@ @ v Gi) ()

Ideal salinity for coral growﬂl is
(1) 5-10 %o (2) 10~17 %o

(3) 37-46%0 (4) 27-30 %

Hermatype is a type of
(1) coral .

(2) climate

(3) intrusive rock

(4) extrusive rock

An almost continuous belt extending
from Jaisalmer, Barmer, Jalore to
Churu, Jhunjhunu relates to the

cultivation of
(1) Jowar (2) Guar
- (3) Bajra - (4) Mustard

The most benefitted district from

Narmada project is
(1) Jalore (2) Barmer
(3) Jodhpur (4) Jaisalmer
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62.
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2001-2011 &% | for felt o soen %
T W AT GEieE F Ay giE 8
tat

(1) AT — SEargT
(2) ®r - gRE

(3) AR - AT

(4) ¥R - MR

| g g @ few oo B e
e = dnifas oftes § @ adt
et @t tRefys oftes d§ wE
e, aw e '

(1) oo

(2) ¥EREw
(3) Tefeaw
(4) TATAAUST
forr oty § gemn T fove gg @
i smfee o, 39 safe # g0 § W
TRl w1 e A 9 fgm e
(1) EemeT (2) TEWH
(3) W= (4) Y

- femre W “The Morphology of

%_..andscap'e” T R R o, &

(1) fex
(3) mé?ﬁ#

(2) g
(4) §&T

i eferdl 1 SR Fie fE TR
T AT &l &, JE 8

(1) ToTFa SHFROT
(2) W=

(3) WRTHA WEET
4) et

58,

59.

60.

61.

62.

The districts having highest and lowest
increase of density of population over

the last census decade (2001-2011)is

~ respectively

(1) Jodhpur - Banswara
(2) Kota - Dungarpur
(3) Jaipur - Jaisalmer
(4) Alwar - Dholpur

The Gréek scholar who held the idea
that ‘all history must be treated

geographically and all geography must

be treated historically is
{1) Thales

| (2) Herodotus

(3) Hecateous
(4) Anpaximander

The scholar who undertook study of
European boundary problems at the
time when events were leading to
World War ~ II, was '
(1) Huntington

(3') Saver

(2) Hartshome
(4) Ratzel

The famous paper “The Morphology
of Landscape” was presented by

(1) Ritter ~{2) Huntington
(3) Hartshorne  (4) Saver

The type of migration when intending
migrants come back to their native
countries, is specifically

(1) forced migration
(2) out migration
(3) return migration
(4) deportation
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63.

eE gie & SO w1 W A
Waﬂa\ﬁwm%

(1) =ian

(2) e

(3) I FY

(4) BE-EEF—FE

e w1

A, G O9 % T 97SRI W g |/

FINUT 3 WIAT oNE @ Mt
et WY MR W T |

B. fava # waifys @ a0 & wusr
TS AT ¢ |

. uE o | forew & e 1/5 ot

65.

66.

67.

. H YUK E |

D. WAl N fava # W@ =W o
IaRE a3 |

(1) BEC (2) A,CdD

(3) B,CED (4) HFAB

e w0 ° B ¥ v w® qiftEm

FEARH I E

(1) TGS, FHer, e

(2) TR, UL, FS

(3) guuu, sl s

(4) JUE.T,, TN SR, FATGEH

‘@A T fasr ¥ Fraer T
©E, T

(1) @ = wRw .

(2) e, TEveH o feafeerdt & fER
(3) BN, B feoter o Seee & famm

@ feafeer, g o iedT & faem

‘T gEer Fﬂﬂf‘«@-‘r{aﬁm
HE Y, TEE

(1) Taaa

(2) feervg o

(3) & TlET

(4) wmstt =t faww

65.

66.

67.

. (4) Kobe

Economically, the most significant
industrial region of Japan is -

(1) Nagoya

(2) Kwanto

(3) North Kyushu

- Osaka — Kyoto

Select the correct statement :

A. Now Venezuela has surpassed
Saudi Arabia in known oil
reserves to stand first.

B. Saudi Arabia possesses world’s
largest oil reserves.

C. Saudi Arabia  possesses 1/5 of
- World’s reserves.

D. Saudi Arabia is the world’s largest

producer and exporter of oil.
(1) BandC
3) B,CandD

2) A,CandD
(4) B only

The world’s largest uranium producers
in decreasing order are

(1) Kazakhstan, Canada, Australia
(2) Niger, U.S.A,, Canada

(3) U.S.A,, Australia, Canada

4) U.S.A., South Africa, Kazakhstan

“Unified Field Theory” unifies

(1) three different regions -

(2) ideas of Jackson, Pounds and
‘Whittlsey

(3) ideas of Hartshorn, de Blij and.
Jackson

(4) ideas of Whittlesey, Hartshorne
and Gottman

‘Idea-Area Chain’ explains the theory
of

(1) Heartland

(2) Rimland

(3) Unified field
{(4) Evolution of boundaries
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(i) /e ¥

(1) g @) ¥
3) FA™WTE  (4) A @
weArFR % e # i e &
R # FeerT e &, wE
(1) T A
(2) AT, AA
3) T, A
(4) TH. QR
frdt oy W F SRS F WER A
TR ST R W Y R W
a2 A g8 e T e, W
(1) s T -

- (2) ey
(3) IERA

71.

72.

73,

(4) TEAE B AR A EE qed

meﬁﬂlﬂﬁm%
(1) ITHFEF90° R
(2) WEFTFL5W®

(3) WHHFEFAA Y

(4) SEM 5 F THARR

- Pyt ¥ R B W T T R

THE? .
(1) ammEsra (2) FEEaEs
(3) FEm (@) Wi
F 1 gt @ ¥ 2
wEer  gwr fafas
(1) eigd@ - T
() e — fereit
(3) ™ - a]
(4) T - 99
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68.

69.

70.

71.

72.

730 ’

(1) Volcanic

A zone separating two sovereign states
isknownasa '

(1) frontier
(3) buffer state

(2) boundary
(4) legal line

The concept of geological structure in
the evolution of landforms was given
by

(1) E.H. Brown

(2) R.J. Chorley .

(3) W.D. Thornbury

(4) A.N. Strahler

The factor not assumed by von Thunen

in influencing the type of agricultural

production at a location, is

(1) land rent

(2) climate

(3) distance to market

(4) selling price of product in the
market

The earthquake epicentre is located at
(1) 90° from focus

(2) 45° from focus

(3) centre of the focus

(4) parallel to the focus

Which one of the following is not a
type of earthquake ?

(2) Tectonic -
(3) Collapse (4) Composite

Which is not a correct match ?

- Land forms Formed by
(1) Alluvial Fan —  River
(2) Moraine —  Glacier
(3) Blowouts - Wind
(4) Eskers -  Wind
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‘ofeasr 9 aE

(1) o1 &t GhE =t sua

(2) 94 =t fervoit & A0t @t qiEfoa &
T
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fova § AR ® Wy afw S
aifepa =t

(1) e+t gt g

(2) A = arg T

(3) et W @rg §

(4) IoaTRH

o W showem fag few TR

i s A e & 7

(1) et

(2) aferTg

(3) FeER gy 9
(4) TG

et @ @ 97 § o &7 o g
FW®E?

(1) @vear 3R MR gy a9

2) ufeHt smer = gRET

(3) HEral 3T e 3

(4) T T R 8

I |1 GAfer T & 2
TITER T
(1) vy - ofeeHt e
(2) <Al T AT W3
(3) SEHE T N AW

4) W . ;ﬁfwraaaéh

74.

S,

76.

77,

78.

The term ‘albedo’ implies :
(1) capacity to absorb heat
(2) capacity to modify path of sun

rays
(3) amount of solar radiation
reflected by surface
(4) amount of heat transferred to air
by the surface

The highest height of the tide in the
world has been recorded at :

(1) Guif of Fundi

(2) Gulf of Mexico

(3) Bay of Bengal

(4) North Sea

In which state/union territory is the
southernmost point of India located ?

(1) Kerala

(2) Tamil Nadu

(3) Nicobar Island

(4) Lakshadweep Island

Which one of the following area is not
having mangrove forests ?

(1) Andman and Nicobar Islands
(2) Sunderbans in West Bengal

(3) Mahanadi and Godavari delta
(4) Coastal area of Kerala

Which is not a correct match 7
Soil Type  State/Area

(1) Laterate soil West Bengal

(2) Black soil Andhra Pradesh

(3) Alluvial soil Middle Ganga

Plain

 (4) Peatysoil  Coastal areas of

QOdisha
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80.

81.

82.

83.

04

frfefae & & ®1F ° T 7HE e B

e 7

(1) varsRofE spifer
(2) o e
(3) Tt e

(4) SRET

S T T T ST § S
T HFar € ?

(1) IEATHS AU
(2) WW
(3) wfakyg i
(4) o HH

m@a@aﬁgﬂaﬁﬁ%mﬁaw
Ty e & o SWeT W1 Feoil €

(1) Fed A9H
(2) s ANES
(3) amEwifE Tuw
(4) R H9E

aqmzsﬂaﬁ@fﬁmé#mm_

wava € 7
(1) 0.002
(3) 0.036

(2) 0.001
(4) 093

ﬁmﬁf@aﬂﬁﬁ#mqﬁqmm

“yftony 7 € 2

(1) &

(2) v |
(3) ¥

@) Tsm

79.

80.

81.

82.

Which orie of the following is not a

branch of human geography ?
(1) Environmental geography |
(2) Social geography

(3) Political geography

 (4) Settlement geography

Which type of scale can be used
universally ?

(1) Graphical scale
(2) Statement scale

(3) Representative fraction

(4) Diagonal scale

When a very long distance is shown on

- asmall map, its scale is called

(1) Large scale
2) Small scale
(3) Universal scale
(4) Ordinary scale

The percentage of carbon dioxide in

atmospheric gases is :
- (1) 0.002 (2) 0.001
(3) 0.036 4) 093

83.

s L T L

“Which of the following is not a result

of orogenetic movement ?
(lj Faulting |

(2) Folding

(3) Warping

(4) Submergence
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(1) = T
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ey |
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(2) W, Jerwelt
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T - 13 g - 1S e g a
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A, Tredvs (@ s
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85.

86.

87.

88,

Which is not a planetary winds ?
(1) Trade winds

(2) Westerly winds

(3) Monsoon winds

(4) Polar winds

Which ooze is most abundant in
Atlantic ocean ?

(1) Globigerina
(3) Pteropod

(2) Radiolarian
(4) Diatom

" Who used the word ‘probébl.ism’ in

place of ‘possibilism’ ? -
(1) A.J. Herbertson
(2) O.H.K. Spate

(3) Isaiah Bowman
(4) M.J. Fleure

The  geographer who believe in
adjustment between nature and man in
his book, ‘Cultural Geography’ was :
(1) Karl Saver

(2) PM.Roxby

(3) Vidal de la Blache

(4) Huntington

Match List-I with List-II and select the

correct answer using code given below :
List - X List ~ II
(Industrial Region) (Country)
A. Midlahd Region (i) ° Japan
B. Pittsburgh (ii) France
C. NagoyaRegion  (iii)) United
Kingdom
D. Rhone valley (iv) USA.
Codes : .
A B C D
1) @G dv) @ G
2y () G Gv) @
@) G G O G
) >(v) @) G) @
‘ 04
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89, ‘wafed wid @ fmr fQ wem wkm | 89. Who is known as ‘father of systematic
% geography’ ?
(1) TR (1) Eratosthenese
(2) (2) Aristotle
@) e (3) Hipparchus
(4) ieifrm (4) Posidonius
90, w7 a i T & 2 90. Which is not a correct match ?
) E‘E’lﬂ' _ =tgirg (1) Humboldt — Kosmos
@) fe | _ ok orbgud (2) Ritter - Die Erdkunde -
3) ¥ ' ~ N ﬁ- (3) Ratzel — Anthropogeography
& B (4) Vidal-de- - Nature of
(4) ToET-SI-F-SAR — A= S la-Blache  Geography
91, W o B wew ¥ awn w@em | 91 Who said, ‘Man is the latest agent in
R & 7 fr = 2 fashioning of the landscape’ ?
M & ad @) T (1) D. Harvey (2) Hartshorne
3 4 et (3) Huntington  (4) Carl Saur
92. i ur e & 2 92. Which is not a correct mgtch T
Tﬁaﬂm fafove g Geographer Special Field
1) &% e B . (1) R.Peet —~ Radical
O mﬁ 3 : Gcography
(2) D.M.Smith - Environmental
(2) <tum. fom - wEEROR e ~ Geo
graphy
(3) RIW. - N (3) JR.Gold - Behavioural
5 e Geography
(4) . fawm - qiaH (4) M. Chisholm - Idealism in
YA Geography |
93, Frfefisd § @ ®9 W T WRE ¥ | 93, Which one of the following is not a
| VEEIINE TT T 9~ TR el ¢ 7 sub-economic region of peninsular
‘ : plateau of India ? ‘
1) TEWE B8R P
M ; (1) Maharashtra Plateau
(2) TGS RN . (2) Bundelkhand Plateau
(3) FAREH WR (3) Karnataka Plateau
(4) 3% 9B (4) Andhra Platean
04 19 =
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T £ 7 |
) @ (2) T
(3) TA T (4) =T
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(3) e

(2) iy
(4) Feifey

ORI sas fea ﬁmmmuﬁa
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(2) 1961
(3) 1962 4) 1965
‘FIEE WA T T VA WER §
(1) e
@ ¥
(3)-?-ﬂm=iaa=; ;
(4) FEaE
frerffiae & @ @9 @ W e w
ettt e 3 de feer & 9 |
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?

(1) Tare
@) v
(3) YE-SigmEr
(4) FEaE

94,

95.

96.

98.

99.

(1) Pwave
3 L wave

" (3) Lapolith

Which wave we can see in seismic
shadow region ?

(2) Swave
" (4) None

Which is largest mtruswe relief made

by volcano ?
(1) Batholiths (2) Lacoliths

(4) Phacolith

When was ‘Sea floor spreading’ theory

- presented 7
(1) 1960 (2) 1961
3) 1962 4) 1965

‘Mud Flow and ‘Earth Flow’ is types
of

(1) Landslides
(2) Slow movements
(3) Rapid movements
(4) Avalanche

Which plate is situated between Indian
and Philippian plate from following ?

(1) Cocoas E {(2) ‘Fuji
(3) Caroline (4) Nazca .

 ‘Oxbow’ lake is devcloped in which

stage ?

(1) Youth stage

(2) Mature stage-
(3) Pre-mature stage
(4) Old stage
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(1) et
2) e iy
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101,

(4) F=WY
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(1) wrrE
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(4) HeetEt

102, He e T R % wEfe § st

91T J o 4 weifegdl Bt v A, B, C uE
D ¥ ¥ # T w0 & | w7 gE A
aﬁwiﬁ'\ﬁ'ﬁ:

ﬁ.‘.

s L)

(1) A-STe, rB-ﬂZ‘ﬂﬁ'ﬁ‘ ?ﬁ CHAWT, D-
Tt

‘(2) A-UEHIE gH, B-SIEA, C-AFT, D-
ﬁ:ﬁﬁ' 3

(3) A-SI%eEH, B-UeHIE W, C-fiwit, D-
Elu

4) A-een, B-wm, C-fael, D-vewd
- .

21

| 100.

101.

102.

“Uvalas’ is also known as :
(1) Valley sinks

(2) Collapse sinks

(3) Doline sinks

(4) Cave sinks

In which era the Thar Desert was part
of Ocean ? ’

(1) Proterezoic °~ (2) Cenozoic

(3) Pre-cambrian (4) Mesozoic

The following India map is showing
the location of 4 hills in North-East
part of India as A, B, C and D, Identify -
the correct name of hills : .

(1) A-Dafla, B-Patkoi Bum, C-Naga,
. D-Mizo

(2) A-Patkoi bum, B-Dafla, C-Naga,
D-Mizo

A-Dafla, B-Patkoi bum, C-Mizo,

(3) A
D-Naga

(4) A-Dafla, B-Naga, C-Mizo,
D-Patkoi bum
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